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SIDDHARTH INSTITUTE OF ENGINEBRING & TECHNOLOGY:: PUTTUR
(AUTONOMOUS)

B.Tech I Year I Semester Supplementary Examinations December-2021
ENGINEERING MATHEMATTCS-I

(Comrnon to All)

Q.P. Code: l6HS602

Reg. No:

Time: 3 hours

(Answer all Five Units 5 xL2= 60 Marks)

a Solve ,H* ! = logx.
b Firrd the orthogonal trajectories of the familyrcf the parabolas y2: 4ax.

Solve (Dt+2D2 +D)y=e" +x+sin2x.

a , . vz zx xv 0(u ,v,u,)ll U :1'1' = -lll'= :..1hltlh1l L : 4.x y z O(x,y,r)

b Showthatlog(1 *e*) -losz+i++-*.
OR

4 Findtheminimumvalue ofx' + y' * zz gtventhat x * y * z = 3a.
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a Evaluate J Itr' + y'lctydx.
0t
I I l-.r

5 Evaluate IJ J, clzdxclv.
ot'o 

oR
Evaluate the integral by changing the order of integration t" tifidy dx.

a Find the Laplace transform of 3cos3t.cos 4t.
b State and prove first shifting theorem.

OR
a Find the Laplace transform of f(t) : t sin 3t cos 2t
b Find z1{rgy\, where F(t) is a periodic function of period 2a and it is given by

l*. o<t<utrU): {
[- fr a < t < 2a

Max. Marks: 60
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9 a Find L-'lr, - 4s+20f by using first shilting theorem.

b Using the Convolution Theorem, find . I_=_t----I
l {s- + 5')- l

6M

OR
10 Use transform method, solve y" + 2y' + 5y = e-t sint where y(0) - 1,y'(0) = 1
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